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1. Read and number the pirates

Number 1: This pirate has a beard. He's wearing a jacket and a hat. He isn't having a wooden leg.
He’s having a hook on his right hand and a parrot on his left shoulder.

Number 2: This pirate’s wearing a pirate hat, trousers, boots and a jacket. He isn’t wearing an eye
patch. He's having a sword on his left hand.

Number 3: This pirate’s wearing a pirate hat, a blue jacket, belt and boots. He's having a sword.
He's wearing an eye patch. He isn't having a parrot.

Number 4: This pirate’s wearing a bandana and an earring. He's having a wooden leg and he's
wearing trousers and a t-shirt. He isn't a treasure chest.

Number 5: This pirate has a beard. He's wearing a bandana, boots and an earring. He's having a
sword and a treasure chest.

Number 6: This pirate has a beard. He's wearing a bandana, a t-shirt and short trousers but he
isn't wearing a waistcoat. He's having a sword and a treasure chest.

Number 7: This pirate is wearing a jacket, trousers and pirate hat. He isn't having a sword and an
eye patch.

Number 8: This pirate isn't wearing a bandana. He has a beard and he's wearing a red t-shirt.
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2. Listen and drag
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3. Write a description about a pirate




STINAEMOBK2HEEL2

Name: Ne: 4«@;‘

vy

3. Choose the right answers

I'm wearing a pirate hat. I’'m not a belt around my waist.

I'm having a parrot on my right I'm having a spyglass.
shoulder.
I’'m wearing an eye patch.

I’'m wearing gloves and coat.

I'm not having a wooden leg.

| have a red beard.

4. Choose the correct option and complete the sentences

the captain usually a big beard?
he normally gloves?

he a pirate hat at the moment?
he a gun now?

He not a spyglass every day.




